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Sig. of Candidate. Sig. of Invigilator.
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CHEMISTRY SSC-II
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(vi)

(vii)

(viif)

(ix)

(xi)

(xii)

Which of the following reaction will not have any units for K.7?

A Hyoy + €Oy =2 H,0,, +CO,, B. Ny + Oy =2 2NO,,
C. 24, + B, =34C,, C. All of these

Which of the following is not the macroscopic characteristic of forward reaction?
A It is written from left to right

B. Reactants produce products

C. Rate is fastest in the beginning and gradually slows down

D. Proeducts produce reactants

In the following reaction which substance is donating an electron pair NH, + BF, > HN-BF, 7

A B B. H C. N D. BF,
What is the particular pH range at which potatoes grow?

A 55-6.5 B. 55-70 C. 65-75 D. 60-7.5
Formic acid contains functional group:

A -OH B. -0 - C. -CO0OH D. -CHO
Stem “But” stands for how many carbon atoms?

A 2 B. 3 C. 4 D. 7

By dehydration, we mean the removal of:

A Hydrogen Halide B. Hydrogen

C Water D. Halogen

Which process produces an alkane?

A Dehydration B. Hydrogenation C. Hydration D. Combustion
Raffinose (C\ 4,0, )is a:

A Disaccharide B. Monosaccharide

C. Trisaccharide D. Polysaccharide

Highest temperature in Mesosphere is:

A =359 B. -93°7C C. -5 D. -60°C
Which human activity resuits in contamination of water bodies?

A Livestock waste B. Pesticides

C. Septic tanks D. All of these

Chalcopyrite is the ore of:

A Chromium B. Aluminium C. Copper D. [ron

For Examiner’s use only:

Total Marks: 12
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CHEMISTRY SSC-Ii

Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary’answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B {Marks 33)

Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)

M Following reaction can occur during lightning storms:
30,,, = 20

3y

For this reaction write:

a. Equilibrium constant expression
b. Determine the units of X,

c. Forward and Reverse Reaction

(if) State three uses of equilibrium constant?

iii) Briefly describe Acidity of stomach.

(iv) Define and give examples of Lewis acid.

() What is condensed structural formula? Write condensed structural formula of:
a. Hexane b. Nonane

(vi) What are the reasons for the formation of millions of organic compounds?

(vii) Draw electron dot — cross structure for:
a. Propane b. Propene C. Propyne

viii) Write at least three reactions of methane and chlorine in diffused sunlight.

ix) Differentiate between fats and oils?

X) What five elements are primarily responsible for the make up of DNA and RNA?

(
(
(
(xi) There is a scientific evidence that CFCs contribute to the depletion of ozone, why?
(xii) What is a catalytic converter?

(

xiiy  Compiete the following reactions:

a Ca(HCO,), —
b. Ca( HCO,), + Ca(Off), —
C. Mg? + Na.Z —

(xiv) Why is it advisable to wash hands well with soap after using bathroom?

(xv) Define petroleum.

SECTION — C (Marks 20}

Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
‘ Q.3 a Write five methods with balanced chemical equations for preparing salts? {05)
Write a note on uses of salts for food preservation. (05)
Q4 a Write general methods of preparation of Alkynes. (06)
Write a note on types of vitamins. (04)
Q.5 a. Write down the treatment of sewage water. Describe its different steps. (06)
b. Write Boiling point range of the following hydrocarbons: (04)
1. Petrol 2. Naphtha 3. Kerosene oil 4. Diesel
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CHEMISTRY SSC-li
SECTION — A (Marks 12)

Time allowed: 20 Minutes

Answer Sheet No.

o o —— - -
——

)

Sig. of Invigilator.

..............................

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C [/ D. Each part carries one mark.

(i) What are the units for N, +0,,, = 2NO,, ?

No units

cr’

Ethene

Galactose

Carbon dioxide

Dysentery

Sio,

Uz

A mol.dm™ B. mol*.dm™ C. dm’ .mol™ D.
(i) A double arrow (=) indicates.

A Forward reaction B. Reverse reaction

C. (rreversible reaction Reversibie reaction
(i) Which of the following is a Lewis base?

A BF, B. HCI C. AICL, D.
{(iv) NH, Cannot be classified as a base by:

A Lewis Theory B. Bronsted — Lowery Theory

cC. Arrhenius Theory D. All of these
(V) Which is an alcohol?

A CH,~CH, -0-CH,—-CH, B. CH ,—OH

o} CH ,—~CH, - COOH D. CH ,~CH, - NH,
(vi) Which compound is not a saturated hydrocarbon?

A CH ,~CH, : B. CH,

C. CH ,—~CH =CH, D. CH ,-CH, - CH,
{vii) Which product is obtained when chloromethane is reduced?

A Ethyne B. Methane C. Ethane D.
(vii)  Which is used for dehydrohalogenation of Alkyl halides?

A Alcoholic KOH B. _Conc.H,50,

C. ALO, D. Bromine water
{ix) Which is not a dextrose sugar?

A. Glucose B. Mannose C. Fructuse D.
(x) Which gas has lowest percentage in the air?

A. Oxygen B. Nitrogen C. Hydrogen D.
{xi) Which of the following is not a water borne disease?

A. Hepatitis B. Anemia C. Typhoid D.
(xii) The formuia of Halite is:

A ZnsS B. PbS C. NaCl D.
For Examiner’s use only:

Total Marks:

Marks Obtained:
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CHEMISTRY SSC-lI

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer hook. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B {Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {11 x 3= 233)
(i) State law of mass action and derive the expression for equilibrium constant Kc?
(ii) State conditions for equilibrium?
(i} Identify Bronsted — Lowery acids and bases in the following reactions:
a H.,S0, + H,0 — HSO, + H,0"
b. CH,COOH + H,0 - CH,COO™ + H,0"
C. H.S+ NH, - NH, + HS™
(iv) Solution of sodium Hydroxide (NaQH) is commonly used as drain cleaner. If the concentration of OH

ion in a solution of NaOH is 1.0x10 *M . |s the solution acidic, basic or neutral? (Prove it).

V) What is Alkyl Radical? Convert following into Alkyl Radical:
a. Methane b. Ethane
(vi) Write at least three characteristics of organic compounds.

{vii) Complete the following reactions:

a HC—C=CH+2Br, >
b. H.C-C=CH+2CL -
c. H,C ~CH = CH, + KMnO, + H,0 >
(viii) Draw structural formuias of an alkane, an alkene and an alkyne containing six (08) carbon atoms.
{ix) Write the general formula of Amino acid and identify functional groups in it.
{(x) Write three functions of protein.
(xi) Write the percentage composition of three main components of atmosphere.
(xit) Define Giobal warming.
(xiii How chemistry help maintain a ciean swimming pool? Explain.
(xivy  What do you mean by quality of water?

(xv) Calculate the percentage of nitrogen in Urea.

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a What is self-ionization of water? Explain. (04)
HT || OH
b. Derive the equation Kc= [——JL-—] (03)
(71,01

c. Prove that PH+POH=14 {03)

Q.4 a Classify organic compounds on the basis of carbon skeleton. (06)
What is functional group? (02)

Differentiate between Aldehydes and Ketones? (02)

Q.5 a. Write a detail note on Ammonia Solvay's process? (06)
What are the advantages of Solvay’s process? (04)
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